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QUESTION 1

You have a cartridge that defines three stages of decomposition. The first stage contains order components that
represent functions, the second stage contains order components that represent target systems, and the third stage
contains order components that represent granularities. You want to define decomposition rules that always apply the
same granularity to a function, independent of the target system that this function is communicating to. How would you
design these decomposition rules such that it is easy to maintain them in the future evolutions of your system topology?

A. a single decomposition rule with the function as the source order component and the granularity as the target order
component

B. a single decomposition rule that has all target systems as source order components and the granularity as the target
order component

C. a single decomposition rule that has only the target systems used by the function as source order components and
the granularity as the target order component

D. one decomposition rule for each target system, having this target system as the source order component and the
granularity as the target order component

E. one decomposition rule for each target system used by the function, having this target system as the source order
component and the granularity as the target order component

Correct Answer: B

QUESTION 2

Which three aspects can you ascertain by analyzing an orchestration plan in the Order Management Web client?
A. You can find the order items that are associated with each fulfillment function.

B. You can identify the order components that will be executed in parallel.

C. You can identify the order components that will be executed at the beginning of order execution.

D. You can identify the fulfilment mode associated with an order.

E. You can define the dependency conditions between order components.

Correct Answer: ACD

Reference: https://docs.oracle.com/cd/E49155_01/doc.73/e49705/mdl_full_patt.ntm#OSMMG612

QUESTION 3

In your cartridge, you have implemented one order and one orchestration sequence. What is the third element that
should be configured to connect this orchestration sequence to your order?

A. Orchestration Process

B. Order Item Specification
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C. Orchestration Stage
D. Decomposition Rule
E. Recognition Rule

Correct Answer: D

QUESTION 4

You are commissioned to include a new action in the Task Web client context menu that appears when a user right-
clicks the worklist and that interacts with selected tasks. How would you include this requirement?

A. by adding the new action to a task in Design Studio
B. by configuring the oms-config.xml file

C. by adding the new action to an order in Design Studio
D. by deploying a custom Java code

E. by ideating the Task Web client source code

Correct Answer: A

QUESTION 5
Identify the option with the scenario or scenarios that can be implemented in the context of task permissions.
1.

The ActivateDSL Role, which requires normal processing of an activation task, requires permission to execute this task
under the "DO" execution mode.

2.

The OrderFulfillment Role, which needs to roll back the activation operations previously performed by an activation
task, requires permission to execute this task only under the "Amend DO" and "UNDO" execution modes.

3.

The InventoryUpdate Role, which executes reassignment of resources in the inventory system by re-executing a
previously performed task in an order under revision, requires permission to execute this task

only under the "REDQO" execution mode.
Al
B.2
C.3

D. Both 1 and 2
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E. Both 2 and 3
F. Both 1 and 3
Correct Answer: E

Reference https://docs.oracle.com/cd/E35413 01/doc.722/e35415/cpt_order_changes.htm#autold12

Latest 170-493 Dumps 170-493 VCE Dumps 170-493 Practice Test

Latest 120-493 Dumps | 120-493 VCE Dumps | 1Z20-493 Practice Test 4/4


https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
http://www.tcpdf.org
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html
https://www.passapply.com/1z0-493.html

